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o 1

Addition of 4-digit numbers (without regrouping)

We have already learnt to add 3-digit numbers (with and fm&;
without regrouping) in previous classes. Now we will : . To add 4-digit num
learn to add 4-digit numbers. J first add the ones, the,
| tens, the hundreds ang
ﬁnally the thousands.

Example: Add 3423 and 2343.
Solution: First, place the number in the columns correctly.
SR
'Adding ones

1. Break up the number and find the sum.

a. 52+4 b. 48+21 c. 49+30 z

d. 65+55 e. 88+11 f. 72+33 1

g 212+42 h. 528 +210 i 345+233 |
2. Add the following:

™ 3 4 5 8 e 1 8 3

Aﬁ
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3. Write in columns and add.

a. 5213 +3054 b. 3461 + 3337 - c. 2054 +7024
d. 5895 + 4001 e. 6291 + 2507 " f. 3111+2118

[Think and Answer|

Iy

1. 1am a 3-digit number. If you add
1 to me, you get a 4-digit number.
What numberam | ?

2. Tellwhol ém ? To know, add the
largest 2-digit number and the
smallest 3-digit number.’

- e

Addition of 4-digit numbers (with regrouping) #
Follow the same method as explained in the addition of 3-digit number in previous ;
classes. :
Example: Add 7368 and 6954.

Solution: Place the numbers in the columns correctly.

| é — Step 1 : Add the ones and regroup.
= 8+4=12
l

i 3 6
m oF s ((12i8a2-digit number. Write 2 in the ones

place and carry over 1 to the tens place.)
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Addition of three 4-digit numbers

You can add three 4-digit numbers in the same way as you add two 4-digit numbers.

Example : Add 3986, 4535 and 6425.
Solution: TTh Th H S {0)
[ONONOXO,
r R 5" © (i) 4000 + 3000 + 1500 =7
& > 3 S (i) What will be the sum of
o8 4 2 5 9 thousands, 9 hundreds
and 9 ones?
1 4 9 4 6

& v

2. Find the sum:

S TTh Th H RO "
[

|

o 32 6 5 - BEeE 7 o0 8

BE: : - : B¢ o
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3. Find the sum:

! . B

B 3 8 s s

s e i

| : KK
L LN S - IR

» Do these sums in your notebook.

a. 4501 + 2377 b. 4175+ 4712

c. 7140 + 2852 d. 5032 + 3865

e. 2354 + 3453 + 2208 f. 3946 + 5032 + 348

g. 6012 + 86 + 804 h. 9253 + 3000 + 4795
y 3

. ' Aash
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